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] answer for each from the glven options;

m.gqmlma when repeat thelr blologican or behavioural activitasaterrguale
(a) Behaviour (b) Ciracadian rhythem

(c) Blorhythm (d) Phatoperiodism
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a) Hydrogen b)Peptide bond phodi

el ik (b)P: on! (c)Phos aster bond

Production of daughter cells with unequal number fo chromosomes aunng meiosis

called:
(n) Developmant (b) Anauaplaidy {¢) Hotorpolidy (d) potyplold
WMwillbmhogonotypouuomm-Mwmzyowahlcmedwﬂhdwm:
(a)1:1 (h) 31 (c)1:2:1 (0) None of thase
Plants which grow and like light are:
(a) Halophytos (b) Heliphyles
(c) Hydrophytes (d) Hygrophytes
The lubular heailly lignified dend colls with large hollow cavities & obliqua
trangversewall called:
() Sclarids (b) Trachelds {c)Fibers (d) Tracheas
The type of inflorescne found in cotton plantis:
(a) Raceomos (b)Helicoid  {c)Cymose  (d) Scorpold
The separated part of apkal mersiem found at the base of node and
intemodecalled:
(a) Primary meristam  (b) Secondary masisiam
() Intercallary meristem (d)Apical meristem
Eaction-B

Short Answer
Answer any TEN of the followlng questiviis, Each qusstion carries 02 marke.
How HALOPHYTES  absorb water from the having lower water potential than he
cell-sap?
Do the cells beneath formative-phase differ from each other
What in Nutation?
How HETERO-CHROMATIN differs form the EU-CHROMA
How bisexual flowsrs are prevented from self-poliination m@ﬂwoun Croes-
pollination? 7.
Why TRANSCRIPTION and TRANSLATION are so named? \9 .
Dofine any TWO of the following: /O
{a) SAVANAH (b) CAPITULUM O
(¢) CIRCADIAN (d) TRANSLOCATION .
Dintinguish between any "ONE" of the following: S
() Pelagic an Benthic-zones of marine habitats,
(b) Tundra and Desort
How Edaphio factors an acoysystem?

© Why HEMOPHILIA s comparalely rare Inwomen?
. Whigh of the Phwlochrome Is conisdered as " Fruit ripaning hormane” and why?
. How do Mesophytes prevent thomselves from excessive transpiration’?

Why distribution of population depends upon camatelc factors?
HowAPOMIXIS s different from PARTHENOCARPY?
r

Ssction-C Desoriptivs
: Answer any TWO of the following questions. Each question carries 07 marks,
. What is hataroploid? How R occurs in living organisms. Discuss any two

abnormalities of human in detall,

normal femalo married n male whose one son In colour-b
while the other childean aro normal, What will Genotype rmocypo“nd
father.(Prove itwith the help of Genetic Croes) . S k

Stata the “LAW OF PURITY OF GAMETES"
trait, giving suitable example. ETES related with the Inheritance of singlo




